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Topic: Shopping, premium and luxury brands

Watch the video and answer the questions:

https://lyoutu.be/KD-h3_e-NAE

1.

a.

On a busy day, Harrods has customers.
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https://youtu.be/KD-h3_e-NAE

4. What animal did a customer want to buy from Harrods?
a.adog
b. an eagle

c. an elephant

5. How much does a machine gun cost?
a. $120,000
b. $190,000

c. $180,000

6. Harrods has the second biggest toy store in the world.
a. True

b. False

7. How much did the Egyptian escalator cost ?
a. 10 million pounds
b. 30 million pounds.

c. 50 million pounds.

8.How much did the department store sell for?
a. 1.5 billion pounds
b. 1.6 billion pounds

c. 1.8 billion pounds



